Review Problems Week 5

1. Find the area of a sector of a circle of radius 10 inches if the sector subtends a central angle of 60 degrees.

2. Wind is causing a windmill to rotate at 100rpms, the blades of the windmill are .1 meters, find the speed of the wind.

3. A pulley of radius 2 feet is used to lift a heavy load.  If the pulley is making 2 rps at what rate is the load being lifted?

4. Convert from degrees to radians: 
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5. Find 
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1. What angle does the minute hand of a watch subtend in 1 minute? Answer in degree and radians.

2. What angle does the second hand of a watch subtend in two-thirds of a minute? in degree and radians.

3. Find 
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4. y = 2sin(2x +pi/4). Label key points. State the amplitude, period, and phase shift.

5. Solve the inequality 
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1. Graph one complete period of 
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2. Find t if 
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3. Given Ө = 315°, find the following:

a. Determine one positive and one negative coterminal angle.

b. Determine the reference angle.

c. Change Ө to radians. 

d. Determine the terminal point

4. Find the exact value of the following trigonometric functions: 
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5. Convert from degrees to radians: 
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